

b) Put a circled dot at the point where x = 1.2 and estimate the value of y there.

c) Find the general solution of this separable differential equation.

d) What is the obvious straight line isocline solution missing from your family unless you redefine your initially additive constant

(see direction field or DE)?

e) Find the solution which satisfies the initial condition.

f) Evaluate y(1.2) for this solution and mark the corresponding point on the graph by a circled dot annotated as above (arrow from $y_{(1,2)}$ -..., consistent with your approximate hand drawn solution?

\\\\\\\\\\\\\ about 0.7 and separation above center of lower and: $1.2 + 0.76.2 = 1.34 \approx 9(1.2)$

g) Check by hand that your solution to e) solves the differential equation. [Remember, backsub everywhere in the DE eliminating ν , then simplify both sides independently.]

h) Enter the differential equation and the initial condition separated by a comma in Maple. Right click and solve. Write down exactly the form of the solution that it gives you. Does it agree with your hand solution? Explain why if so. If not, you better find your error.

- d) $y^2=1$ makes RHS zero, denvature zero y=1 or y=-1 are both obvious isocline solutions but y=1 is obvious from arrows in plot
- f) $y(1.2) = \sqrt{1+3e^{-1.2^2}} \approx 1.307969 \approx 1.31$ close to estimate too close to try hodraw a new circled dot need larger graph!

9)
$$y \frac{dy}{dx} = x(1-y^2)$$
 $y = \sqrt{1+3e^{-x^2}} = (1+3e^{-x^2})^{\frac{1}{2}}$
 $\frac{dy}{dx} = \frac{1}{2}(1+3e^{-x^2})^{-\frac{1}{2}}(0+3(-2x^2)(-2x))$
 $= -3xe^{-x^2}$
 $\sqrt{1+3e^{-x^2}}$

$$\sqrt{1+3}e^{-x^{2}}\left(\frac{-3xe^{-x^{2}}}{\sqrt{1+3}e^{-x^{2}}}\right) = x\cdot\left(1-\left(\sqrt{1+3}e^{-x^{2}}\right)^{2}\right) \\
-3xe^{-x^{2}} = x\left(\frac{-(1+3e^{-x^{2}})^{2}}{\sqrt{1+3}e^{-x^{2}}}\right) \\
-3xe^{-x^{2}} = x\left(\frac{-3e^{-x^{2}}}{\sqrt{1+3}e^{-x^{2}}}\right) \\
-3xe^$$

only backsub and simplify bothsides independently No even solving steps mixing sides

h)>yy' =
$$\chi_{-}(1-y^2)$$
, $y(v) = 2 \rightarrow y(x) = \sqrt{3}e^{-x^2+1}$
space space or as tensk for multiplication

gensoln: Maple: $y(x) = \int e^{-x^2} - C_1 + 1$, $-\sqrt{e^{-x^2} - C_1 + 1}$

(T) but if I were not trying to
go back and use a previous
ean for the initial condition,
here but I would have renamed this